

Properties of Virasoro operators

$$\textcircled{1} \quad \hat{L}_n f(\hat{L}_0) = f(\hat{L}_0 + n) \hat{L}_n$$

Proof: Write as Taylor series

$$\hat{L}_n f(\hat{L}_0) = \hat{L}_n \sum_{m=0}^{\infty} \hat{L}_0^m \frac{1}{m!} f^{(m)}(0)$$

Push \hat{L}_n through $\hat{L}_0 \dots \hat{L}_0$:

$$\hat{L}_n \hat{L}_0 = (\hat{L}_0 + n) \hat{L}_n$$

$$\Rightarrow \hat{L}_n \underbrace{\hat{L}_0 \dots \hat{L}_0}_m = (\hat{L}_0 + n)^m \hat{L}_n$$

So,

$$\hat{L}_n f(\hat{L}_0) = \sum_{m=0}^{\infty} (\hat{L}_0 + n)^m \frac{1}{m!} f^{(m)}(0) \hat{L}_n$$

$$= f(\hat{L}_0 + n) \hat{L}_n \quad \checkmark$$